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This is a singlet:
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Let’s try to figure out why.
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Rotationally invariant:
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Rotate about y axis with an angle 7.
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Rotation about = axis:

2.3 Magnetic field and spin. The spin precesses around the z axis.
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S is constant.
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Make a canonical transformation:
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Solve problem with canonical transformation.
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The differential equation is nasty:
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I. Start with the Lagrangian. II. Compute p. III. Construct H(p, ¢). IV. Canonical P, Q.

Compute p:

Construct H(p, q):



Want Q) = %. Need generating function:

Try f=0.
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